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BACHELOR'S DEGREE PROGRAMME 

\I 	 Term-End Examination 

June, 2011 
Y) 

ELECTIVE COURSE : PHILOSOPHY 

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Answer all five questions. 
(ii) All questions carry equal marks. 
(iii) Answer to question no. 1 and 2 should be in about 

400 words each. 

1. Describe the nature and scope of Logic. 	20 

OR 

Elaborate on the types of dilemma and their 20 
features. 

2. Briefly explain inductive reasoning and Hume's 20 
criticism of it. 

OR 

What is syllogism and explain its various types ? 20 
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3. 	Answer any two of the following in about 
200 words each. 

(a)  Explain Formal proof of validity and list the 
rules of inference. 

10 

(b)  What is proposition 	? 	Describe 	the 10 
Qualitative and Quantitative types of 
preposition in classical logic . 

(c)  Explain the rules of definition. 10 

(d)  Give a brief account of the History and 
utility of Symbolic Logic. 

10 

4. Answer any four of the following in about 
150 words each. 

(a)  Is Logic a normative science ? Explain. 5 

(b)  What are the quantification rules in modern 
logic ? 

5 

(c)  Describe tautology. 5 

(d)  What is the relation between Logic and 5 
Epistemology ? 

(e)  Distinguish 'sentence' from 'proposition'. 5 

(f)  Give 	justification 	for 	the 	following 5 

(i) AA(B = C) 

(ii) B / C 
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5. 	Write short notes on any five of the following in 
about 100 words each. 

(a) Conversion 	 4 

(b) Deduction 	 4 

(c) Truth value 	 4 

(d) Disjunctive syllogism 	 4 

(e) Fallacy 	 4 

(f) Give proof for the following 	 4 

(i) A = B 

(ii) B = C 

(iii) r-  C/ ••• r-A 

(g) Constant and variable : 	 4 

(h) Hypothesis. 	 4 
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3. 5R-► • 	dr► t 7TTIFT 200 	g1f,TR 
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(a)  WTI 04) TW4 	 f4-47 t ? 4W4 I 5 
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(c)  5 I 
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Tcrisa 

(f)  5 flog Q-N7 : 

(i) AA(B C) 

(ii) B / ..0 
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5. 	ch.g 	Tffk-Rf fattruil -11-4.R 

(a) 	qiict 	-1 

(b) 	1 	1411-fri 

(c) 

(d) 	aq 	11IcicI, 	(Disjunctive syllogism) 

(e) 

(f) P141 Ar-dr 

(i) A B 

(ii) 13 = C 

C/ 

(g) -qT 74 374T 

(h) 	(Hypothesis) 

4 

4 

4 

4 

4 

4 

4 

4 
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